
BEARING   AND  DISTANCE  FROM  COORDINATES

From Point (A) To Point (B)

Xa         = 341383.08 Ya        = 1168994.60

Xb         = 341471.01 Yb        = 1169032.34

87.93 37.74

  Actual  Bearing   = 023 13 35 DISTANCE  = 95.69

From Point (A) To Point (B)

Xa         = 341471.01 Ya        = 1169032.34

Xb         = 341448.03 Yb        = 1169087.51

-22.99 55.17

  Actual  Bearing   = 112 37 09 DISTANCE  = 59.77

From Point (A) To Point (B)

Xa         = 341448.03 Ya        = 1169087.51

Xb         = 341354.78 Yb        = 1169052.18

-93.25 -35.32

  Actual  Bearing   = 200 44 50 DISTANCE  = 99.72

From Point (A) To Point (B)

Xa         = 341354.78 Ya        = 1169052.18

Xb         = 341383.08 Yb        = 1168994.60

28.30 -57.58

  Actual  Bearing   = 296 10 33 DISTANCE  = 64.16

From Point SGGA.J799/14/4 (A) To Point SGGA.A4743/2022/1 (B)

Xa         = 374572.07 Ya        = 1155030.43

Xb         = 341383.08 Yb        = 1168994.60

-33188.99 13964.17

  Actual  Bearing   = 157 10 52 DISTANCE  = 36007.04
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